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QUESTION 1

You want 90% confidence limits for a binomial proportion from a one-way table with PROC FREQ. Which option must
you add to the TABLES statement?

A. BINOMIAL

B. BINOMIAL ALPHA=0.9
C. BINOMIAL ALPHA=90
D. BINOMIAL ALPHA=0.1

Correct Answer: D

QUESTION 2
This question will ask you to provide a section of missing code.

Given the input SAS data set LABRAW:

PTID LABTEST DATE 1 DATE 2 LAB_1 LaB_2
1001 AENC 12/z0/2010 12/27/2010 2.16 .34
1001 HCT 1z/zp0/z010 12/27/2010 O0.43 0.5
1002 ANC 12/i8/2010 12/26/72010 2.2 |
1002 HCT 1z2/:18/2010 12/26/201D0 0.3 0.4

The following SAS program is submitted:

data lab new (keep = ptid labtest wvisit date resulc):
get labraw;
array dat{2) date 1 date 2:
array numiZ} lab 1 lab 2:
<ingart code heres
run;

Thie following output SAS data set LAB_NEW is produced

FTID LABTEST WVISIT DATE RESULT
1001 ANC 1 12/20/2010 2.16
1001 ANC 2 12/27/2010 2.34
1001 HET i 1z2/20/2010 0.43
1001 HCT 2 12/27/2010 0.5
1002 ANC 1 i2/18/2010 2.2
1002 ANC 2 iz/26/2010 2.3
1002 HCT 1 12/18/2010 0.3
1002 HCT 2 iz/26/2010 0.4

Which DO LOOP will create the output SAS data set WORK.LAB_NEW?
A. do i=1 to 2; visit=i; date=dat{i}; result=num{i}; output; end;

B. do i=1 to 2; visit=i; date=dat{i}; result=num({i}; end; output;
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C. doi=1to 2; do j=1 to 2; visit=i; date=dat{j}; result=num{j}; output; end;

D. do i=1to 2; do j=1 to 2; visit=i; date=dat{j}; result=num{j}; end; output; end;

Correct Answer: A

QUESTION 3

The following SAS program is submitted.

dava aes;:

inpue PTNO AESOC § 6-32 AEPT § 34-56 ONTREAT 3

cards:
2001 Cardiac disgrders CHeEdias SFEFast ¥
2002 Infections and infestations Empyema T
2002 Hepatobiliary disorders Heparic failure ¥
2002 Infections and infestations Leptospirosis T
2003 Nervous system disorders Cersbral hemorchage i)
2004 Cardiac disorders Cardiac arcest ¥
2004 Cardiac disorder= Atriml fibrillation N
20068 Infectionz and infestations Wousd infection ¥
2007 PeEnal and ur:lnarir di=szorder=s Benal Tallures T
2007 Gastrointestinal disorders Paencreatitis acute T
2007 Gagtrointestinal disorders Gastiric ulcer .
2008 Vascular disorders Hypotension ¥
2008 Infections and infestations Sepsis
2010 Cardiac disorders Cardiac arrest T
2010 Fenal and urinary disorders Renal faillure acuce T
2011 Social circumstances Homicide N
oun;
proc freq data=WoRK.AE noprint;

vhere pntreat=f¥": tables assoc / ouc=WORK.FREQL;

run;

proe peint data=FORK.FREO]1 nooks:

whers asspc="Cardisac disorders’:
VAar count:

run;

What result is displayed for the variable COUNT?

Al

B.2

C.3C3

D.4D.4

Correct Answer: C

QUESTION 4
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The following question will ask you to provide a line of missing code. Given the following data set work.vs:

gubjid wisitc sbp

AD156 1 146
AO156& 2 .
AD156 152
AO156 4 ¥
AD156 5 143

The folowing SAS pragram is submitted to create a new data set that carries forward the previous value of sbp when the value is missing.
daca wock.vsl1:
<insert missing code hérer
2eC WorkK.ws;
if sbp NE . then old sbp = abp:
el=se shp = ald sbp:
run;

The following SAS program is submitted to create a new data set that carries forward the previous value of sbp when
the value is missing.

In the space below, enter the line of code that completes the program (Case is ignored. Do not add leading or trailing
spaces to your answer.).

Correct Answer: RETAINOLD_SBP

QUESTION 5

This question will ask you to provide a line of missing code. The following SAS program is submitted:

proc report data=demo :
coluwn zite subjegt trt age gender re|xe ;
<irsert code herer
defins subject / order ‘Subject® @
define age / formact=3. 'Age' ;
define gender / fGender®
define race 7 'Race' ;
Eun ;

The repott autoul should,
= he sorted by variables SITE and then SUBJECT
= ol display the SITE vanable in the autput

In the space below, enter the statement that completes the program correctly (Case is ignored. Do not add leading or
trailing spaces to your answer.).

Correct Answer: DEFINESITE/ORDERNOPRINT

QUESTION 6

Given the following data set:

A00-280 VCE Dumps | A00-280 Exam Questions | AO0-280 Braindumps 4/9


https://www.leads4pass.com/a00-280.html
https://www.leads4pass.com/a00-280.html
https://www.leads4pass.com/a00-280.html

https://lwww.leads4pass.com/a00-280.html

Leads4 Pass 2024 Latest leads4pass A00-280 PDF and VCE dumps Download

ATYSID1A DATE TINE SYSEP DIAEF RESP
0001 0001 19961216:09:26 120 &0 20
Q001 0001 19961223:08:18 110 ] 15
0001 0001 19961230:09:12 115 T 15
0001 0001 19970106:09:01 107 Ta 12
0001 0001 19570110:05:43 112 T3 15

Which type of clinical trials data is this?
A. Demographics

B. Laboratory

C. Medical History

D. Vital Signs

Correct Answer: D

QUESTION 7

From the Statistical Analysis Plan, patients age is calculated as an integer relative to date randomized divided by
365.25. Given the following annotated CRF:

Date of birth || BIRTHDT
Lray Month Y@t
Sex ML Mate
SEX (SEX)
[F] I: Female
._H’AND OMISATION NUHEER_' RAND
Record randomisation number
Dmluumﬁmhumnl | J | | ” | |ﬂhHDDT
Day Linn® Vaar

Which programming code defines the patient\\'s age?
A. age = int((birthdt-randdt)/365.25);

B. age = int((randdt-birthdt)/365.25);

C. age= int(yrdif(birthdt,randdt, "act/365.25"));

D. age = int((today()-birthdt)/365.25);
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Correct Answer: B

QUESTION 8

Which CDISC filename contains the following items?

Variable attributes

Controlled terminology

Computational methods

Enter your answer in the space below (Case is ignored. Do not add leading or trailing spaces to your answer.).

Correct Answer: DEFINE. XML

QUESTION 9

Which name is a valid SAS V5 variable name?
A. _AESTDTC

B. AESTARTDTC

C. AE-STDTC

D. AE_START_DTC

Correct Answer: A

QUESTION 10

The following SAS program is submitted, but fails due to syntax errors.

data WORK.TOTALEXPEND (keep=HonthExp{ld}):
set WORKE.MONTHLYEXPEND(keep=Year Drug Disp):
array HonthExp{12)}:
da 1=1 to 12;
HonthExpiil=Diz=p:
end;
drop 1;
run;:

What is the cause of the syntax errors?
A. The keep= data set option should be (keep=MonthExp*).

B. An array can only be referenced in a KEEP statement and not within a keep= data set option.
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C. An array cannot be referenced on a keep= data set option.
D. The keep= data set option should be (keep=MonthExp).

Correct Answer: C

QUESTION 11

Given the following data set:

subjid TrCt reaultc dtime =T (=
i CR | 56
s i FD 1 s
3 B PR 1 47
4 B CR . 29
5 1 =1 1 39
& c =1 1) 3 21
7 c FD 2 a0
1 & CR 0 43
3 B PD 1 56

The following oulpul was generatec from PROC PRINT

Ohs subjid EEL cesule dr ime age
1 il CE O 56
2 2 i PD 1 52
3 3 B FE 1 47
q q B CR 2 29
5 5 1 an 1 39
& L L 5D 3 21
T 7 c PD 2 an

Which program was used to prepare the data for this PROC PRINT output?
A. proc sort data=one out=two; by subjid; run;

B. proc sort data=one out=two nodupkey; by subijid; run;

C. proc sort data=one out=two nodup; by subijid; run;

D. proc sort data=one out=two nodupkey; by subjid trt; run;

Correct Answer: B

QUESTION 12

Define.xml is an XML-based submission of a clinical study\\'s: A. results
B. metadata

C. data

D. protocol
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Correct Answer: B

QUESTION 13

The VISIT data set is multiple records per subject, sorted by usubijid vistdtc vistm and contains the following variables:

i Variable Type Len
3 VISITNUM Char 3
1 VISTDTC Char 12
2 VISTH Char =
4 usubjid I 1ztn B

The DEATH data set is one record per subject, sorted by usubijid vistdtc vistm and contains the following variables:

# Variable Type Len
3 DHHEF ID Char 5
4 DHTERH Char 200
i VISTDTC Char 12
2 VISTH Char 5
5 usubjid un =4

Which program will combine the DEATH and VISIT data sets by matching records?
A. data data_1; merge death visit; by usubjid vistdtc vistm; run;

B. data data_1; merge death visit; run;

C. data data_1; set death visit; by usubjid vistdtc vistm; run;

D. data data_1; merge death visit; by usubijid vistm vistdtc; run;

Correct Answer: A

QUESTION 14

Which statement will create a report footnote that identifies the date and time that the SAS program was executed?
A. footnotel "Created on andsysdate9 andsystime";

B. footnotel = "Created on andsysdate9 andsystime";

C. footnotel \\'Created on andsysdate9 andsystime\\’;

D. footnotel = \\'Created on andsysdate9 andsystime\\’;

Correct Answer: A

QUESTION 15

Identify the data structure with the following characteristics:
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?Contains one or more records per subject, per analysis parameter, and per analysis timepoint.

?May be derived from findings, events, interventions and special-purpose SDTM domains, or other ADaM datasets.
?A record can represent an observed, derived, or imputed value required for analysis.

A. General Data Structure (GDS)

B. Basic Data Structure (BDS)

C. Subject Level Analysis Data Set (ADSL)

D. Event Level Analysis Data Set (ADAE)

Correct Answer: B

A00-280 VCE Dumps A00-280 Exam Questions A00-280 Braindumps

A00-280 VCE Dumps | A00-280 Exam Questions | AO0-280 Braindumps 9/9


https://www.leads4pass.com/a00-280.html
https://www.leads4pass.com/a00-280.html
https://www.leads4pass.com/a00-280.html
http://www.tcpdf.org
https://www.leads4pass.com/a00-280.html
https://www.leads4pass.com/a00-280.html
https://www.leads4pass.com/a00-280.html

